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10 - 20 - 30K DL SF5E6H18H
0E i % % ouT IN |ToTAL| HDCcP [ NET
= B W ZHig 39 44 83 9.6 73.4
B Wi S 54 44 98 22.8 75.2
3 fi B EE 45 47 92 15.6 76.4
B-B BH gt 54 54 108 24 84

A0iZ X DEB
IE fiI K % ourT I N TOTAL HDCP NET
& B e 36 35 71 0 71
HERS RSB 9% 45 41 86 14.4 71.6
3 fi BH 24 48 42 90 16.8 73.2
4 {if k42K A 39 49 88 14.4 73.6
5 fiI HiZE s 44 42 86 12 74
B-B B 2 52 56 108 26.4 81.6

50i% X DEB
IE fiI K % ourT I N TOTAL HDCP NET
& B R 8 36 37 73 2.4 70.6
HBRS AT IEH] 44 50 94 22.8 71.2
3 fi AL ER 45 42 87 14.4 72.6
4 fi EHE 41 38 79 6 73
5 fiI 74 40 36 76 2.4 73.6
B:-B 7%/ 62 65 127 36 91

60 X DEB
IE fiI K % ouT I N TOTAL HDCP NET
& B 518 E48 43 43 86 15.6 70.4
HE(ZR B hE 38 38 76 4.8 71.2
3 fi A —2 36 37 73 1.2 71.8
4 fi 55 b 46 47 93 20.4 72.6
5 fiI k4K REB 37 37 74 1.2 72.8
B-B A% fF 59 61 120 33.6 86.4

70 - 80 - 90 DR
IE fiI K % ourT I N TOTAL HDCP NET
& B hE B2 40 44 84 13.2 70.8
B =5 ¥R 37 40 77 6 71
3 fi $E Hits 43 46 89 18 71
4 {if EH #H— 38 38 76 4.8 71.2
5 fiI il 5 46 45 91 19.2 71.8
B-B L B—EB 45 56 101 12 89
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